
SUPPLEMENTARY DATA LEGENDS 

Supplementary, Figure 1. Comparison of results between central laboratory (Lab) and G1 with least 

rectangle regressions (A, B, C, D, E, F) and difference plots (G, H, I, J, K, L) for Na+ (A, G), Cl- (B, H), K+ 

(C, I), Ca2+ (D, J), lactate (E, K), Hb (F, L). 

Na+: sodium, Cl-: chloride, K+: potassium, Ca2+: calcium, Hb: hemoglobin. 

                   Mean of differences                      +/- 1.96 standard deviation 

Supplementary, Figure 2. Comparison of results between G1 and G3 with least rectangle regressions 

(A, B, C, D, E, F, G, H, I) and difference plots (J, K, L, M, N, O, P, Q, R) for pH (A, J), pCO2 (B, K), pO2 (C, 

L), Na+ (D, M), K+ (E, N), Ca2+ (F, O), lactate (G, P), Hb (H, Q), O2Hb (I, R). 

pH: hydrogen potential, pCO2: partial pressure of CO2, pO2: partial pressure of O2, Na+: sodium, K+: 

potassium, Ca2+: calcium, Hb: hemoglobin, O2Hb: oxyhemoglobin. 

                   Mean of differences                      +/- 1.96 standard deviation 
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